DIVISIONI ENTRO IL 9.999

A

~
2.262:8 = N} oY
2.292:5= _ “ ﬁ'
3.129: 6=
2.329:3=
5.580 : 4 =
7.409 :7 = &’
6.514 : 4 =
8.758 : 8 =
9.099:9 = N
9.003:5 = —
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DIVISIONI ENTRO IL 9.999

Metti in colonna e calcola con la prova:

Metti in colonna e calcola con la prova:

2.098: 3=
7122 :7 =
4442 .2 =
3.651:4-=
4068 :9 =
8.131: 9=
6.990: 2 =
3.819:8=
7.631:6=
4635:4-=



DIVISIONI ENTRO IL 9.999

Metti in colonna e calcola con la prova:
2.262 :8 =
2.292:5=
3129:6 =
2329:3=
5580:4-=
7.409:7 =
6.514 : 4 =
8.758 : 8 =
9.099:9 =
9.003:5=
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Metti in colonna e calcola con la prova: - r
‘o £ y
5671:2=
oe
1.224:8 = v
4760 : 8 - , b-’
1.218 : 8 =
. Q- )
6.476 : 8 = %D o
5519:2+= G O
7920:5+=
7.171:8 =
1636 : 5=
3169:7 =




DIVISIONI ENTRO IL 9.999

Metti in colonna e calcola con la prova:
6.678 .7 =
4153 :3+=
2.950:5+=
1.368 : 8 =
2777 .7 =
7.862: 3=
7734 :4:=
2949 :2 =
3.727 1 4=
4895:9:=
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DIVISIONI ENTRO IL 9.999

Metti in colonna e calcola con la prova:
3.319:8+=
1.888:7 =
9.305: 3=
2231:4-=
7549 :6 =
5.800: 8 =
7.052:9=
4745 :5 =
1.288:3 =
4443 :4-=
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